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1. Solve the equation.
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3. At8A.M. asnowplow, traveling at a constant speed, begins to clear a highway leading out of town. At
10 A.M. an automobile begins traveling the highway at a speed of 45 mi/hr and reaches the plow 30
minutes later. Fmd the speed of the snowplow % /'
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4. A boy can row a boat at a constant rate of 4 mi/hr in still water. He rows upstream for 12 minutes and

then rows downstream, returning to his starting point in another 10 minutes. Find the rate of the
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5. Astained glass window is being designed in the shape of a rectangle surmounted by a semicircle. The
width of the window is to be 3 feet, but the height A is yet to be determined. If 15 ft? of glassis to be

used, find the height, h. A 1),/3_ *j W e 32
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6. Solve the equation.
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7. Avrectangular plot of ground having dimensions 38 feet by 34 feet is surrounded by a walk of uniform
width. If the total area of the walk & plot is 2300 ft*, what is its width?
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8. Write the expression i(5+2i)% in the form of a+bi. o 'Pz’?)(.{* -2
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9. Write the expression (5-7i)(5+7i) in the form of a+bi. 25- 4 ‘{4 :@
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12. Write the expression Smaah the form of a+bi.
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13. Find the solutions of the equation.
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14. Find the solutions of the equation. l// F
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16. Solve the inequality. 17. Solve the inequality.
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19. Solve the inequality.

| 7x+1] <7 -3x* < -21x + 30.
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